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QUESTION 1

Your organization has specified that menu components should be located on the left-hand side of a page and that the
main content should be displayed in the center. How do you ensure that developers adhere to this standard? (Choose
the best answer.) 

A. Ask all developers to use the two-column quick start layout. 

B. Create a page template that defines the specified layout and distribute it to developers 

C. Create an ADF library that contains a collection of ADF Faces components that developers must use 

D. Create a task flow template that defines the specified layout; this will enforce the correct layout on all pages that are
built from the template. 

Correct Answer: B 

 

QUESTION 2

Which two statements describe the characteristics of an application module? (Choose two) A. ft provides the database
transaction for the queries that it encapsulates. 

B. it defines view object instances to implement an application use case. 

C. it defines entity object instances to implement an application use case. 

D. There is a one-to-one mapping between view objects and application modules. 

E. Each ADF application has only one application module. 

Correct Answer: AB 

 

QUESTION 3

Which option represents the expression you would use to determine if a user belongs to the administrator role? (Choose
the best answer.) 

A. #{securityContext.userinRolefadministrator\\']} 

B. adf.context.securityContext.role.administrator 

C. #{securityContextuserGrantedResource [administrator1]} 

D. sfadfSecurity.userlnRolefadministrator\\']} 

E. adf.context.secuhtyContext.userlnRole.administrator 

Correct Answer: D 
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QUESTION 4

A backing bean for a page must hold its value over multiple requests for the current user. Which three bean scopes are
applicable? (Choose three.) 

A. requestScope 

B. backingBeanScope 

C. viewScope 

D. pageFlowScope 

E. sessionScope 

F. applicationScope 

Correct Answer: CDE 

 

QUESTION 5

Which statement is true about the role of data controls in ADF? (Choose the best answer) 

A. They implement business service functions. 

B. They persist data from the database for display in the user interface 

C. They provide a consistent abstraction over the implementation details of a business service. 

D. They are a Java API that is called directly from each Ul component to populate the component with data. 

E. They are the primary source of validation logic to control the behavior of your business service. 

Correct Answer: C 
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